INTERNATIONAL JOURNAL OF RESEARCH IN COMMERCE, ECONOMICS & MANAGEMENT



A Monthly Double-Blind Peer Reviewed Refereed Open Access International e-Journal - Included in the International Serial Directories

Ulrich's Periodicals Directory ©, ProQuest, U.S.A., The American Economic Association's electronic bibliography, EconLit, U.S.A., EBSCO Publishing, U.S.A. Index Copernicus Publishers Panel, Poland, Dpen J-Gage, India [link of the same is duly available at Inflibnet of University Grants Commission (U.G.C.)]

as well as in Cabell's Directories of Publishing Opportunities, U.S.A.

Circulated all over the world & Google has verified that scholars of more than Hundred & Twenty One countries/territories are visiting our journal on regular basis.

CONTENTS

Sr. No.	TITLE & NAME OF THE AUTHOR (S)	Page No.
1.	SITUATION ANALYSIS OF DOCTORS WORKING IN HEALTH DEPARTMENT OF ODISHA: A DESCRIPTIVE STUDY	1
	RAMA CHANDRA ROUT, BHUPUTRA PANDA & ABHIMANYU SINGH CHAUHAN	
2.	QUALITY OF EDUCATION AND TEACHERS IN ETHIOPIAN SECONDARY SCHOOLS (THE CASE OF EASTERN ZONE OF	4
	TIGRAI REGION, ETHIOPIA)	
	DR. HAILAY GEBRETINSAE BEYENE & MRUTS DESTA YEEBIYO	
3.	AN ANALYSIS OF THE IMPACT OF FISCAL DECENTRALIZATION (FD) ON BUDGET DEFICIT IN PAKISTAN	11
	ABDUR RAUF, DR. ABDUL QAYYUM KHAN & DR. KHAIR-UZ ZAMAN	
4.	DETERMINANTS OF MILITARY EXPENDITURE IN DEVELOPING COUNTRIES AND THEIR EFFECTS ON THE ECONOMY	16
	A. K. M. SAIFUR RASHID, MD. ZAHIR UDDIN ARIF & M. NURUL HOQUE	
5.	A CRITICAL EVALUATION OF THE GOVERNMENT EXTENSION SERVICES: THE CASE FOR LAND REFORM FARMS, IN THE	21
	WEST COAST DISTRICT, WESTERN CAPE	
	MOGALE PETER SEBOPETSA & DR. MOHAMED SAYEED BAYAT	
6.	LABOUR MIGRATION AND IMPACT OF REMITTANCES ON LIVELIHOOD PATTERN IN SOME AREAS OF TANGAIL	29
	DISTRICT IN BANGLADESH	
	RAZIA SULTANA, DR. M. A. SATTAR MANDAL & MD. SAIDUR RAHMAN	
7 .	ARE OLDER LEARNERS SATISFIED WITH THEIR INVOLVEMENT IN LEARNING COURSES'?	33
	JUI-YING HUNG, FENG-LI LIN & WEN-GOANG, YANG	
8.	ECONOMIC GROWTH, INCOME INEQUALITY, AND POVERTY: EVIDENCE FROM BANGLADESH, 1981-82 TO 2009-10	37
	MD. MAIN UDDIN	
9.	IMPACT OF ABSENCE OF ANTI-COUNTERFEITING LAWS AND PRESENCE OF LOW PRICE ON CONSUMERS' ATTITUDES	41
	TOWARD THE NON-DECEPTIVE COUNTERFEITS IN A DEVELOPING CONTEXT	
	IMRAN ANWAR MIR	
10.	MOBILITY AND MIGRATION OF FEMALE SEX WORKERS: NEED FOR STRATEGIC INTERVENTIONS	46
	GOVERDAN KUMMARIKUNTA & DR. CHANNAVEER R.M.	
11.	BUSINESS DEVELOPMENT & GREEN MARKETING	50
	DR. R. KARUPPASAMY & C. ARUL VENKADESH	
12.	IMPACT OF SOCIO-ECONOMIC PROFILE ON SATISFACTION OF BANK OFFICIALS OVER TRAINING AND DEVELOPMENT	55
	PROGRAMMES IN BANKS	
	JASPREET KAUR & DR. R. JAYARAMAN	
13.	ECONOMIC GLOBILIZATION CATASTROPHE AND ITS UPSHOT ON INDIAN ECONOMIC MARKETS	61
	K.LOGESHWARI	
14.	FOREIGN EXCHANGE DERIVATIVES TRADING SCENARIO: A NEW PARADIGM IN THE ERA OF CURRENCY	65
	DR. P. S. RAVINDRA & E.V.P.A.S.PALLAVI	
15.	REGIONAL DIVERGENCE IN PER CAPITA INCOME IN DISTRICTS OF RAJASTHAN	71
	DR. REKHA MEHTA	
16.	CONTRIBUTION OF INFORMATION TECHNOLOGY INDUSTRY IN PROMOTING INDIA AS BRAND INDIA	75
	DR. DEEPAKSHI GUPTA & DR. NEENA MALHOTRA	
17.	AN EMPIRICAL STUDY ON SOCIO-ECONOMIC EMPOWEREMENT OF WOMEN THROUGH SELF HELP GROUPS	84
	ANURADHA.PS	
18.	OPERATIONAL ADEQUACY OF WORKING CAPITAL MANAGEMENT OF SELECTED INDIAN AUTOMOBILE INDUSTRY - A	87
	BIVARIATE DISCRIMINANT ANALYSIS	0,
	DR. N. PASUPATHI	
19.	DEFORESTATION AND ENVIRONMENTAL SUSTAINABILITY: A STUDY OF INTERDEPENDENCE	93
13.	DR. MD. TARIQUE	33
20.	PATTERN OF GROWTH AND INSTABILITY OF INDIA'S EXPORTS (1991-2006)	100
20.	DR. KULWINDER SINGH & DR. SURINDER KUMAR SINGLA	100
21.	CHANGE IN RETAIL SHOPPING BEHAVIOUR: WHY AND FOR WHOM?	108
21.	PRAMOD PANDURANGRAO LONARKAR & PARMESHWAR GORE	108
22		112
22.	LIVESTOCK A WAY TOWARDS RURAL INDUSTRIALIZATION-A CASE STUDY OF POULTRY BUSINESS	112
22	SUNIL SUBHASH PATIL THE ECONOMISTRIC SETIMATION OF ELASTICITIES OF DEMAND FOR INDIA/S EXPORTS AND IMPORTS	117
23.	THE ECONOMETRIC ESTIMATION OF ELASTICITIES OF DEMAND FOR INDIA'S EXPORTS AND IMPORTS	117
2.6	P. SUHAIL & V.R. REMA JYOTHIRMAYI	455
24.	SOCIAL IMPACT OF MICRO FINANCE ON RURAL POOR IN ANDHRA PRADESH	122
	DR. NANU LUNAVATH	
25 .	MAHATMA GANDHI NATIONAL RURAL EMPLOYMENT GUARANTEE ACT (MGNREGA): ISSUES AND CHALLENGES	136
	HARSIMRAN SINGH	
	REQUEST FOR FEEDBACK	141

CHIEF PATRON

PROF. K. K. AGGARWAL

Chancellor, Lingaya's University, Delhi Founder Vice-Chancellor, Guru Gobind Singh Indraprastha University, Delhi Ex. Pro Vice-Chancellor, Guru Jambheshwar University, Hisar

PATRON

SH. RAM BHAJAN AGGARWAL

Ex. State Minister for Home & Tourism, Government of Haryana Vice-President, Dadri Education Society, Charkhi Dadri President, Chinar Syntex Ltd. (Textile Mills), Bhiwani

CO-ORDINATOR

DR. BHAVET

Faculty, M. M. Institute of Management, Maharishi Markandeshwar University, Mullana, Ambala, Haryana

ADVISORS

DR. PRIYA RANJAN TRIVEDI

Chancellor, The Global Open University, Nagaland

PROF. M. S. SENAM RAJU

Director A. C. D., School of Management Studies, I.G.N.O.U., New Delhi

PROF. M. N. SHARMA

Chairman, M.B.A., Haryana College of Technology & Management, Kaithal

PROF. S. L. MAHANDRU

Principal (Retd.), Maharaja Agrasen College, Jagadhri

EDITOR

PROF. R. K. SHARMA

Professor, Bharti Vidyapeeth University Institute of Management & Research, New Delhi

CO-EDITOR

DR. SAMBHAV GARG

Faculty, M. M. Institute of Management, Maharishi Markandeshwar University, Mullana, Ambala, Haryana

EDITORIAL ADVISORY BOARD

DR. RAJESH MODI

Faculty, Yanbu Industrial College, Kingdom of Saudi Arabia

PROF. SIKANDER KUMAR

Chairman, Department of Economics, Himachal Pradesh University, Shimla, Himachal Pradesh

PROF. SANJIV MITTAL

University School of Management Studies, Guru Gobind Singh I. P. University, Delhi

PROF. RAJENDER GUPTA

Convener, Board of Studies in Economics, University of Jammu, Jammu

PROF. NAWAB ALI KHAN

Department of Commerce, Aligarh Muslim University, Aligarh, U.P.

PROF. S. P. TIWARI

Department of Economics & Rural Development, Dr. Ram Manohar Lohia Avadh University, Faizabad

DR. ANIL CHANDHOK

Professor, Faculty of Management, Maharishi Markandeshwar University, Mullana, Ambala, Haryana

DR. ASHOK KUMAR CHAUHAN

Reader, Department of Economics, Kurukshetra University, Kurukshetra

DR. SAMBHAVNA

Faculty, I.I.T.M., Delhi

DR. MOHENDER KUMAR GUPTA

Associate Professor, P. J. L. N. Government College, Faridabad

DR. VIVEK CHAWLA

Associate Professor, Kurukshetra University, Kurukshetra

DR. SHIVAKUMAR DEENE

Asst. Professor, Government F. G. College Chitguppa, Bidar, Karnataka

ASSOCIATE EDITORS

PROF. ABHAY BANSAL

Head, Department of Information Technology, Amity School of Engineering & Technology, Amity University, Noida

PARVEEN KHURANA

Associate Professor, Mukand Lal National College, Yamuna Nagar

SHASHI KHURANA

Associate Professor, S. M. S. Khalsa Lubana Girls College, Barara, Ambala

SUNIL KUMAR KARWASRA

Principal, Aakash College of Education, Chander Kalan, Tohana, Fatehabad

DR. VIKAS CHOUDHARY

Asst. Professor, N.I.T. (University), Kurukshetra

TECHNICAL ADVISORS

MOHITA

Faculty, Yamuna Institute of Engineering & Technology, Village Gadholi, P. O. Gadhola, Yamunanagar AMITA

Faculty, Government M. S., Mohali

FINANCIAL ADVISORS

DICKIN GOYAL

Advocate & Tax Adviser, Panchkula

NEENA

Investment Consultant, Chambaghat, Solan, Himachal Pradesh

LEGAL ADVISORS

JITENDER S. CHAHAL

Advocate, Punjab & Haryana High Court, Chandigarh U.T.

CHANDER BHUSHAN SHARMA

Advocate & Consultant, District Courts, Yamunanagar at Jagadhri

<u>SUPERINTENDENT</u>

SURENDER KUMAR POONIA

CALL FOR MANUSCRIPTS

We invite unpublished novel, original, empirical and high quality research work pertaining to recent developments & practices in the area of Computer, Business, Finance, Marketing, Human Resource Management, General Management, Banking, Insurance, Corporate Governance and emerging paradigms in allied subjects like Accounting Education; Accounting Information Systems; Accounting Theory & Practice; Auditing; Behavioral Accounting; Behavioral Economics; Corporate Finance; Cost Accounting; Econometrics; Economic Development; Economic History; Financial Institutions & Markets; Financial Services; Fiscal Policy; Government & Non Profit Accounting; Industrial Organization; International Economics & Trade; International Finance; Macro Economics; Micro Economics; Monetary Policy; Portfolio & Security Analysis; Public Policy Economics; Real Estate; Regional Economics; Tax Accounting; Advertising & Promotion Management; Business Education; Business Information Systems (MIS); Business Law, Public Responsibility & Ethics; Communication; Direct Marketing; E-Commerce; Global Business; Health Care Administration; Labor Relations & Human Resource Management; Marketing Research; Marketing Theory & Applications; Non-Profit Organizations; Office Administration/Management; Operations Research/Statistics; Organizational Behavior & Theory; Organizational Development; Production/Operations; Public Administration; Purchasing/Materials Management; Retailing; Sales/Selling; Services; Small Business Entrepreneurship; Strategic Management Policy; Technology/Innovation; Tourism, Hospitality & Leisure; Transportation/Physical Distribution; Algorithms; Artificial Intelligence; Compilers & Translation; Computer Aided Design (CAD); Computer Aided Manufacturing; Computer Graphics; Computer Organization & Architecture; Database Structures & Systems; Digital Logic; Discrete Structures; Internet; Management Information Systems; Modeling & Simulation; Multimedia; Neural Systems/Neural Networks; Numerical Analysis/Scientific Computing; Object Oriented Programming; Operating Systems; Programming Languages; Robotics; Symbolic & Formal Logic and Web Design. The above mentioned tracks are only indicative, and not exhaustive.

Anybody can submit the soft copy of his/her manuscript anytime in M.S. Word format after preparing the same as per our submission guidelines duly available on our website under the heading guidelines for submission, at the email addresses: infoijrcm@gmail.com or info@ijrcm.org.in.

GUIDELINES FOR SUBMISSION OF MANUSCRIPT

	DATED:
THE EDITOR JRCM	
Subject: SUBMISSION OF MANUSCRIPT IN THE AREA OF	
(e.g. Finance/Marketing/HRM/General Management/Economics/Psychology,	/Law/Computer/IT/Engineering/Mathematics/other, please specify)
DEAR SIR/MADAM	
Please find my submission of manuscript entitled '	' for possible publication in your journals.
hereby affirm that the contents of this manuscript are original. Furthermore,	it has neither been published elsewhere in any language fully or partly, nor is i
under review for publication elsewhere.	,
under review for publication elsewhere. affirm that all the author (s) have seen and agreed to the submitted version of	
affirm that all the author (s) have seen and agreed to the submitted version of	the manuscript and their inclusion of name (s) as co-author (s).
affirm that all the author (s) have seen and agreed to the submitted version of Also, if my/our manuscript is accepted, I/We agree to comply with the form	the manuscript and their inclusion of name (s) as co-author (s).
affirm that all the author (s) have seen and agreed to the submitted version of Also, if my/our manuscript is accepted, I/We agree to comply with the form contribution in any of your journals. NAME OF CORRESPONDING AUTHOR: Designation:	the manuscript and their inclusion of name (s) as co-author (s).
affirm that all the author (s) have seen and agreed to the submitted version of Also, if my/our manuscript is accepted, I/We agree to comply with the form contribution in any of your journals. NAME OF CORRESPONDING AUTHOR: Designation: Affiliation with full address, contact numbers & Pin Code:	
affirm that all the author (s) have seen and agreed to the submitted version of Also, if my/our manuscript is accepted, I/We agree to comply with the form contribution in any of your journals. NAME OF CORRESPONDING AUTHOR: Designation: Affiliation with full address, contact numbers & Pin Code: Residential address with Pin Code:	the manuscript and their inclusion of name (s) as co-author (s).
affirm that all the author (s) have seen and agreed to the submitted version of Also, if my/our manuscript is accepted, I/We agree to comply with the form contribution in any of your journals. NAME OF CORRESPONDING AUTHOR: Designation: Affiliation with full address, contact numbers & Pin Code: Residential address with Pin Code: Mobile Number (s):	the manuscript and their inclusion of name (s) as co-author (s).
affirm that all the author (s) have seen and agreed to the submitted version of Also, if my/our manuscript is accepted, I/We agree to comply with the form contribution in any of your journals. NAME OF CORRESPONDING AUTHOR: Designation: Affiliation with full address, contact numbers & Pin Code: Residential address with Pin Code:	the manuscript and their inclusion of name (s) as co-author (s).

- The sender is required to mention the following in the **SUBJECT COLUMN** of the mail: New Manuscript for Review in the area of (Finance/Marketing/HRM/General Management/Economics/Psychology/Law/Computer/IT/ Engineering/Mathematics/other, please specify)
- There is no need to give any text in the body of mail, except the cases where the author wishes to give any specific message w.r.t. to the manuscript.
- d) The total size of the file containing the manuscript is required to be below 500 KB.
- Abstract alone will not be considered for review, and the author is required to submit the complete manuscript in the first instance.
- The journal gives acknowledgement w.r.t. the receipt of every email and in case of non-receipt of acknowledgment from the journal, w.r.t. the submission of manuscript, within two days of submission, the corresponding author is required to demand for the same by sending separate mail to the journal.
- 2. MANUSCRIPT TITLE: The title of the paper should be in a 12 point Calibri Font. It should be bold typed, centered and fully capitalised.
- 3. IOR NAME (S) & AFFILIATIONS: The author (s) full name, designation, affiliation (s), address, mobile/landline numbers, and email/alternate email address should be in italic & 11-point Calibri Font. It must be centered underneath the title.
- ABSTRACT: Abstract should be in fully italicized text, not exceeding 250 words. The abstract must be informative and explain the background, aims, methods, results & conclusion in a single para. Abbreviations must be mentioned in full.

- KEYWORDS: Abstract must be followed by a list of keywords, subject to the maximum of five. These should be arranged in alphabetic order separated by commas and full stops at the end.
- MANUSCRIPT: Manuscript must be in BRITISH ENGLISH prepared on a standard A4 size PORTRAIT SETTING PAPER. It must be prepared on a single space and 6 single column with 1" margin set for top, bottom, left and right. It should be typed in 8 point Calibri Font with page numbers at the bottom and centre of every page. It should be free from grammatical, spelling and punctuation errors and must be thoroughly edited.
- 7 HEADINGS: All the headings should be in a 10 point Calibri Font. These must be bold-faced, aligned left and fully capitalised. Leave a blank line before each
- SUB-HEADINGS: All the sub-headings should be in a 8 point Calibri Font. These must be bold-faced, aligned left and fully capitalised. 8.
- MAIN TEXT: The main text should follow the following sequence: 9

INTRODUCTION

REVIEW OF LITERATURE

NEED/IMPORTANCE OF THE STUD

STATEMENT OF THE PROBLEM

HYPOTHESES

RESEARCH METHODOLOGY

RESULTS & DISCUSSION

RECOMMENDATIONS/SUGGESTIONS

SCOPE FOR FURTHER RESEARCH

REFERENCES

APPENDIX/ANNEXURE

It should be in a 8 point Calibri Font, single spaced and justified. The manuscript should preferably not exceed 5000 WORDS.

- 10. FIGURES &TABLES: These should be simple, centered, separately numbered & self explained, and titles must be above the table/figure. Sources of data should be mentioned below the table/figure. It should be ensured that the tables/figures are referred to from the main text.
- EQUATIONS: These should be consecutively numbered in parentheses, horizontally centered with equation number placed at the right. 11.
- 12 REFERENCES: The list of all references should be alphabetically arranged. The author (s) should mention only the actually utilised references in the preparation of manuscript and they are supposed to follow Harvard Style of Referencing. The author (s) are supposed to follow the references as per the following:
- All works cited in the text (including sources for tables and figures) should be listed alphabetically.
- Use (ed.) for one editor, and (ed.s) for multiple editors.
- When listing two or more works by one author, use --- (20xx), such as after Kohl (1997), use --- (2001), etc, in chronologically ascending order.
- Indicate (opening and closing) page numbers for articles in journals and for chapters in books.
- The title of books and journals should be in italics. Double quotation marks are used for titles of journal articles, book chapters, dissertations, reports, working papers, unpublished material, etc.
- For titles in a language other than English, provide an English translation in parentheses.
- The location of endnotes within the text should be indicated by superscript numbers.

PLEASE USE THE FOLLOWING FOR STYLE AND PUNCTUATION IN REFERENCES:

BOOKS

- Bowersox, Donald J., Closs, David J., (1996), "Logistical Management." Tata McGraw, Hill, New Delhi.
- Hunker, H.L. and A.J. Wright (1963), "Factors of Industrial Location in Ohio" Ohio State University, Nigeria.

Sharma T., Kwatra, G. (2008) Effectiveness of Social Advertising: A Study of Selected Campaigns, Corporate Social Responsibility, Edited by David Crowther & Nicholas Capaldi, Ashgate Research Companion to Corporate Social Responsibility, Chapter 15, pp 287-303.

Schemenner, R.W., Huber, J.C. and Cook, R.L. (1987), "Geographic Differences and the Location of New Manufacturing Facilities," Journal of Urban Economics, Vol. 21, No. 1, pp. 83-104.

CONFERENCE PAPERS

Garg, Sambhav (2011): "Business Ethics" Paper presented at the Annual International Conference for the All India Management Association, New Delhi, India, 19-22 June.

UNPUBLISHED DISSERTATIONS AND THESES

Kumar S. (2011): "Customer Value: A Comparative Study of Rural and Urban Customers," Thesis, Kurukshetra University, Kurukshetra.

ONLINE RESOURCES

Always indicate the date that the source was accessed, as online resources are frequently updated or removed.

WERSITE

Garg, Bhavet (2011): Towards a New Natural Gas Policy, Political Weekly, Viewed on January 01, 2012 http://epw.in/user/viewabstract.jsp

PATTERN OF GROWTH AND INSTABILITY OF INDIA'S EXPORTS (1991-2006)

DR. KULWINDER SINGH ASST. PROFESSOR BABA FARID COLLEGE BATHINDA

DR. SURINDER KUMAR SINGLA
PROJECT ASSOCIATE
CSWAS
PUNJABI UNIVERSITY
PATIALA

ABSTRACT

The paper is mainly devoted to statistical verification of the pattern of growth and instability of India's exports during the post-reform and post-WTO period (1991-2006). Results reveals that growth of India's exports during post-reform and post-WTO period remained to be as high as of 12.79 per cent that is well above the growth of exports of majority of the developed and developing countries. The scene at the instability side is also found to be satisfactory as instability of overall export earnings is recoded as low as of 1.40 per cent per annum. Majority of India's exports (selected commodities) experienced high growth and low earnings instability during concerned period. Further, the analysis of instability of India' export reveals that export instability was primarily due to the dominance of quantity variables in case of majority exports. It is also observed that instability in India's export earnings is mainly due to supply variations. Analysis also reveals that developed countries occupy the lowest position in the instability ranking as compared to developing countries and found to be most stable markets for India's export and thus have strong stabilization effect on India's export earnings. Appropriate domestic policy reforms would be essential for abolition of domestic supply bottlenecks and for maintaining quality and cost competitiveness of exports in global market. Deepening of reforms into specific export sectors would stimulate India's export; result compositional and geographical diversification; help to remove supply bottlenecks operating in the economy and help improving export competitiveness.

KEYWORDS

Economic Reforms, Import substitution inward-oriented strategy Supply bottlenecks, SITC, WTO.

INTRODUCTION

he higher degree of instability in export earnings of countries particularly the developing ones has always been a matter of concern. The instability in export earnings adds uncertainties to planning and the crisis that arises often calls for drastic action that adversely affects development projects. Export stability is important because of its effects on internal economic stability, on rate of economic growth and on the distribution of income and wealth. It is also considered important because of its effects on internal and external policies of many countries (Coppock, 1962). The violent and sudden fluctuations in prices, quantum and total value of exports, according to prevalent view which held that there exists an intimate relationship between foreign trade, national income and investment, have a serious adverse impact on the overall growth of the less developed countries (LDCs). The excessive fluctuations in prices and foreign exchange receipts generate fluctuations in domestic activities which in turn make the process of planned development quite complicated and uncertain, reduce the efficiency with which investment resources are allocated, and create manifold difficulties in estimating the expected return on investment which raises the cost of capital needed for greater risk (Aggarwal, 1982). Keeping such facts in view, most of the underdeveloped countries have been trying hard to stabilize their economies by keeping macro-economic variables stable. However, there has been a heavy fluctuation in foreign trade as well as in other macro economic variables of these countries. India's is among the developing countries, whose economic development programme since 1951 has largely been dependent upon availability of foreign exchange reserves. The availability of foreign exchange reserves is determined by and depends upon export earnings and capital inflows which an economy receives. Therefore, instability in export earnings is expected to hamper the process of economic development (Sharan, 1984) and further con

India like many other developing countries pursued import substitution and inward-oriented strategy even as late 1990s, despite the evidence in support of export-led growth strategy. It is held that assumption behind the import substitution strategy was export pessimism that the exports from developing countries would not grow, and even if they did, terms of trade would go against their interests (Kaundal, 2005). Export pessimism was not just a belief, but also almost an ideology among the resident economic elite of India for decades. Two prominent exceptions to this belief were J.N Bhagwati and T.N Srinivasan both Non-Resident Indian (NRIs) (Bhagwati and Srinivasan, 1976). India's prolonged inward-oriented heavy industrialization strategy fostered a large and diverse industrial sector. Over the time, this sector accumulated impressive technological capabilities, but this system created various types of inefficiencies and slowed down the rate of growth of the economy. This model suffered a crisis in early 1980s, reflected economically in falling production and eroding its position as leading exporter of manufactures in the developing world four decades ago (Kaushik and Paras, 2000). By 1980s, Indian policy makers had accepted the need to liberalize the economy. The process however was reluctant, intermittent, and patchy. It is only during 1990s, after the severe macro economic crisis that export promotion based on outward-oriented (export-led growth) growth strategy was adopted as the only alternative for rapid economic growth. Several serious attempts have been made to free up the trade, domestic competition, and technology inflows in order to attract foreign investment (Joshi and Little, 1996). Trade policy has undergone fundamental shift to correct the early trade regime through the withdrawal of quantitative restrictions, reduction and rationalization of tariffs, liberalisation in the trade and payment regime and improving the access to export incentives, besides a realistic and market based exchange rate (ES, 2002-03). The opening-up of economy, establishment of WTO, and India's participation in WTO as founder member have provided export-friendly environment which further experienced remarkable changes. This new economic environment has provided both challenges as well as opportunities for India's export sector. Due to outward orientation of economy and free trade environment at global level, India's exports now have larger role to play and also larger world market. Such type of larger dependence on exports under the new economic environment demands greater stability on the export earnings because of placing of heavy stake on the export sector by the country.

Therefore, this paper is mainly devoted to statistical verification of the pattern of growth and instability of India's exports during the post-reform and post-WTO period (1991-2006). Examining export earnings instability, role of price and quantity variables and that of demand and supply variables in export earning instability has also been highlighted. The paper has organized into four sections. Section I deals with introduction and Section II explains methodology and data used to examine the export instability. Section III describes the results and discussions related to the pattern of growth and instability of India's selected exports. At the end, section IV highlights the broad conclusions emerging out of the analysis of India's export instability.

METHODOLOGY AND DATA

The growth rates and export instability indices in case of value, volume, and unit prices are obtained by fitting an exponential time trend as follows:

 $X_{it} = ae^{bit}$ {I = 1, 2 , 3......n}

Where Xit is the value/volume/unit value of the export of the selected commodity. The method of Ordinary Least Square (OLS) is then used to estimate the semi logarithmic equation.

Export instability index (EII) is defined as the standard deviation of the observed deviation from the estimated exponential time trend.

Export Instability Index (EII) =
$$\frac{100}{X}$$
. $\sqrt{\sum_{t=0}^{n} \frac{e_{tt}^{2}}{n-k}}$

Where
$$oldsymbol{e}_{i au} = X_{i au} - \hat{X}_{i au}$$

$$\hat{X}_{ie} = \hat{\alpha}_{it} e_{ie}^{\hat{b}_{ie}} u_i$$

 \overline{X} = mean of the export earnings/volume/unit value

 $oldsymbol{X}_{i au_{=}}$ Actual values of export earnings/volume/unit value

 $oldsymbol{\hat{X}}_{tr}$ Estimated values of export earnings/volume/unit value

e it = observed deviation from the exponential trend i.e. difference between actual and estimated values of export earnings/volume/unit value

ui= Random term

This instability index has two advantages. First, this is scale independent and can be used for cross comparisons. Secondly, it estimates the coefficient of variation corrected for exponential trend which is useful in policy decisions, on long term basis, as these are taken in terms of growth rates rather than in

The components of the variance of the logarithm of earnings around an exponential trend are examined in case of selected exports commodities to assess the relative importance of price and quantity fluctuations given the identity.

Export Earnings = Price x Quantity

$$E = P.Q$$

$$log E = log P + log Q$$

And variance of log E around a fitted constant growth rate trend line is given by the identity

Where variance and co-variance are around the trend lines. The terms on the right hand side are calculated from the price and quantity indices. They are divided through by their sum and expressed as percentages. The term CP and CQ denotes Contribution of Price (CP) and Contribution of Quantity (CQ) respectively in total earning instability in percentages.

$$CP = \frac{100.\text{var (logP)}}{\text{var (logP)} + \text{var (logQ)} + 2\text{cov (logP.logQ)}}$$

$$CQ = \frac{100 * \text{var (logQ)}}{\text{var (logP)} + \text{var (logQ)} + 2\text{cov (logP.logQ)}}$$

The term CP may be interpreted as the contribution of variance of price to variance of earning and term CQ as the contribution of the variance of quantity to the variance of earning. These are taken as the proportional contribution of price and quantity instability to earnings instability. The co-variance term, positive or negative, reflects the extent to which price and quantity movements are reinforcing or offsetting. The sign is also an indicator of whether supplies of demand variations have been the dominant source of variability. If co-variance has a negative sign, supply fluctuations are major cause of instability and if otherwise covariance has positive sign, demand fluctuations are dominant cause of instability. Role of demand and supply variables is examined by the method explained in Appendix I. To determine which commodity/trading partner have contributed excessively to export instability in total export earnings instability and have stabilization/destabilization effect on export earnings, following method is used.

$$CP = \frac{IDX_j * R_j}{\sum_{i=0}^{n} IDX_i * R_i}$$

CP= Percentage contribution in total export earning

IDX= Instability index

R= mean percentage share in Total Export Earnings

j= is selected commodity/trading partner

i= total commodities/partners (i=n)

CP/R= Stabilization Effect on Export Earnings If more than 1 destabilization effect or excessively contributor to instability on export earnings and if less than 1, stabilization on export earnings.

$$IDX = \frac{100}{n - 4} \sum_{t=3}^{n-2} \frac{X_{t} - MA_{t}}{MA_{t}}$$

1

IDX = Absolute Instability Index

= No. of Years

 \mathbf{X}_{t} = Value of Export in year t

$$MA_{t=1/5}(X_{t-2}, X_{t-1+X, +}X_{t+1}X_{t+2})$$

Indices of export value/price/volume have been utilized from the data taken from Commodity Trade Statistics, United Nations for the period 1991-2006. The analysis is operated at disaggregate level .i.e. at 3 digit level of Standard International Trade Classification (SITC) Revision 1. The selected principal commodities constitute more than 85 per cent share of India's exports and selected markets constitute more than 80 per cent of India's export on an average during the study period. The selected commodities, on which the instability analysis is based, are: fish (fresh and simply preserved) (SITC-031); rice (SITC-042); fruits (fresh and nuts excluding oil nuts) (SITC-051); tea and mate (SITC-074); feed-stuff for animals excluding unmilled feed-stuff (SITC-081); iron ore and concentrates (SITC-281); petroleum products (SITC-332); organic chemicals (SITC-512); synthetic organic dyestuffs, natural indigo and lakes (SITC-531); medicinal and pharmaceutical products (SITC-541); plastic materials, regenerated cellulose and resins (SITC-581); chemical materials and products (SITC-599); leather (SITC-611); articles of rubber (SITC-629); textile yarn and thread (SITC-651); cotton fabrics (woven) (SITC-652); textile fabrics (woven) (SITC-653); made-up articles, wholly or chiefly of textile material (SITC-656); floor coverings, tapestries, etc. (SITC-657); lime, cement and fabric building materials excluding glass/clay material (SITC-661); pearls and precious and semi-precious stones (SITC-667); ingots and other primary forms of iron and steel (SITC-672); universals plates and sheets of iron or steel (SITC-674); copper (SITC-682); machinery and appliances non electrical parts (SITC-719); electric power machinery and switchgear (SITC-722); road motor vehicles (SITC-732); clothing (except fur clothing) (SITC-841); footwear (SITC-851); and jewellery (gold, silver, platinum jewellery ex watchcases and imitation jewellery) (SITC-897).

PATTERN OF GROWTH AND INSTABILITY OF INDIA'S EXPORTS

The results, related to the pattern of export growth and instability of India's selected thirty commodities, have been presented in the following tables. Table 1 describes the pattern of growth and instability indices of India's exports earnings, volume, and price (unit value) during the post-reforms and post-WTO periods. It is noted that India's overall exports grew at 12.79 per cent per annum and experienced low instability of 1.40 per cent per annum. Among the selected thirty commodities, except the commodities namely fish (SITC-031), fruits (SITC-051), Tea and mate (SITC-074), feed-stuff for animals (SITC-081), cotton fabrics (SITC-652) and floor coverings, tapestries, etc. (SITC-657), all of the remaining selected commodities registered high growth of export earnings. Copper (SITC-682) exports registered highest growth of export earnings followed by petroleum products (SITC-332), plastic materials, regenerated cellulose and resins (SITC-581), universals plates and sheets of iron or steel (SITC-674) during the period under study. On the other side, exports of tea and mate (SITC-074) exhibited lowest export earnings growth, followed by cotton fabrics (SITC-652), feed-stuff for animals (SITC-081), floor coverings, tapestries, etc. (SITC-657) and fish (SITC-031) during the same period.

Due to non-availability of data related to export quantity in case of the commodities namely petroleum products (SITC-332), medicinal and pharmaceutical products (SITC-541), pearls and precious and semi-precious stones (SITC-667) and jewellery (SITC-897) export volume and price growth as well as instability has not been calculated. Out of the remaining twenty-six selected commodities, ten commodities experienced double-digit growth in their volume. Road motor vehicles (SITC-732) exports grew at the fastest growth rate of 75.58 per cent per annum followed by copper (SITC-682) (48.77 per cent), machinery and appliances non-electrical parts (SITC-719) (35.51 per cent), ingots and other primary forms of iron and steel (SITC-672) (23.07 per cent) and universals plates and sheets of iron or steel (SITC-674) (21.78 per cent). Contrary to this, volume of cotton fabrics (woven) (SITC-652) exports recorded the lowest growth of -9.26 per cent per annum followed by clothing (except fur clothing) (SITC-841) (0.31 per cent), textile fabrics (woven) (SITC-653) (1.34 per cent), tea and mate (SITC-074) (1.50 per cent), floor coverings, tapestries, etc. (SITC-657) (2.35 per cent) and iron ore and concentrates (SITC-281) (2.75 per cent) etc. Interestingly, except six commodities namely made-up articles, wholly or chiefly of textile material (SITC-656), cotton fabrics (woven) (SITC-652), electric power machinery and switchgear (SITC-722), clothing (except fur clothing) (SITC-841), textile fabrics (woven) (SITC-653) and iron ore and concentrates (SITC-281), all other not only realized very low but negative export price growth (in case of fourteen commodities) during the study period. All of the commodities with negative price growth have achieved quite high export earnings growth except the commodities namely fruits (SITC-051), fish (SITC-031), and tea and mate (SITC-074). Thus, the growth performance of the selected exports has significant as they were characterised by high earning and volume growth and very low price growth as we

Data show that majority of the exports recorded very low earning instability during the study period as only two commodities namely petroleum products (SITC-332) and copper (SITC-682) witnessed double digit instability index value. Similarly, twelve commodities which carried value of the volume instability index less than 5.00 experienced very low export volume instability. Only four commodities namely road motor vehicles (SITC-732) (116.75 per cent), (SITC-) (17.72 per cent), electric power machinery and switchgear (SITC-722) (13.86 per cent) and cotton fabrics (woven) (SITC-652) (10.34 per cent) recorded high export volume instability. Export price instability index carried the value from -52.57 per cent to 127.48 per cent. Out of the twenty-four commodities, only nine commodities such as fish (SITC-031), synthetic organic dyestuffs, natural indigo and lakes (SITC-531), leather (SITC-611), feed-stuff for animals (SITC-081), lime, cement and fabric building materials excluding glass/clay material (SITC-661), rice (SITC-042), iron ore and concentrates (SITC-281), universals plates and sheets of iron or steel (SITC-674) and Ingots and other primary forms of iron and steel (SITC-672) carried low export price instability. Exports of plastic materials, regenerated cellulose and resins (SITC-581) (127.48 per cent) realized highest price instability among the selected commodities, followed by articles of rubber (SITC-629) (82.47 per cent), cotton fabrics (woven) (SITC-652) (78.31 per cent), textile yarn and thread (SITC-651) (52.68 per cent), and made-up articles, wholly or chiefly of textile material (SITC-656) (38.94 per cent). The results of volume and price instability highlight many interesting points. Low export price growth justified the high export volume growth as per the theory of consumer behaviour. Export prices have responded sharply to the support provided by export policy reforms and removal of tariff and non-tariff barriers. Moreover, high price instability has been found to be the major outcome of th

It is held that commodities such as petroleum products (SITC-332), copper (SITC-682), ingots and other primary forms of iron and steel (SITC-672) and iron ore and concentrates (SITC-281) experienced high export earnings growth as well as high export earnings instability, whereas the commodities such as rice (SITC-042), organic chemicals (SITC-512), medicinal and pharmaceutical products (SITC-541), chemical materials and products (SITC-599), textile yarn and thread (SITC-651), made-up articles, wholly or chiefly of textile material (SITC-656), lime, cement and fabric building materials (SITC-661), pearls and precious and semi-precious stones (SITC-667), electric power machinery and switchgear (SITC-722), clothing (SITC-841) and footwear (SITC-851) experienced high growth with low instability. The commodities namely fish (SITC-031), fruits (SITC-051), tea and mate (SITC-074), feed-stuff for animals (SITC-081), leather (SITC-611), cotton fabrics (SITC-652) and floor coverings, tapestries, etc. (SITC-657) recorded low instability and low growth. Thus, it can be said that majority of India's exports experienced high growth of earnings with low export earnings instability during the period under study.

Table 2 presents a picture of decomposition of components of instability (variance) of India's selected export commodities during the period from 1991 to 2006. It is clear from the data that quantity variables were found to the dominant variables causing instability in majority of selected commodities except the commodities like iron ore and concentrates (SITC-281), cotton fabrics (woven) (SITC-652), made-up articles, wholly or chiefly of textile material (SITC-656), electric power machinery and switchgear (SITC-722), clothing (SITC-841) and footwear (SITC-851) in which price is the dominant variable of instability. The negative sign with the co-variance term shows dominance of supply variable in most of the commodities except the commodities namely tea and mate (SITC-

074), feed-stuff for animals (SITC-081), universals plates and sheets of iron or steel (SITC-674) and electric power machinery and switchgear (SITC-722) during the period under study.

Table 3 highlights the role of demand and supply variables in instability of export earnings during the period from 1991 to 2006. The instability indices of export earnings, export volume and export price (unit value) have also been given in the table. The analysis of the correlation between the de-trended series of export earnings and export volume and between the de-trended series of export earnings and export prices (on the basis of Appendix I) exhibits that in case of fourteen commodities role of demand and supply could not be determined as export volume data is not available in case of four commodities and the remaining ten commodities could not fulfill the four conditions of the model used. Therefore, out of the remaining sixteen commodities, supply fluctuations were dominant in case of the majority of the selected exports except feed-stuff for animals (SITC-081) and iron ore and concentrates (SITC-281). In case of these two commodities, export earnings instability was mainly due to demand variations.

Table 4 reveals the instability of exports by commodity structure during the period from 1991 to 2006. It also shows the contribution of the specific commodities in total export instability and its stabilization/destabilization effect (excessive contributor to instability) on total export earnings. The first column (IDX) in table 4 indicates the absolute level of export earning instability. The second column indicates the mean share (R) of each commodity. The 'contribution percentage index (CP)' a measure widely used as an indicator of the contribution of a given commodity (or market outlet) to the instability in total export instability (Coppock, 1962) has been given in the column fourth. This is calculated by multiplying the absolute instability index of each commodity/group (Column 1) by its relative share (Column 2) and expressing it as a percentage of the sum of the product. The rationale of this is that contribution of each commodity to total export instability depends on both its absolute instability and the relative share in export composition. A general criterion to determine whether a given commodity contributes excessively to total instability is the extent to which the contribution percentage (CP) exceeds its relative share. A convenient way is to express the former as a ratio of the latter. The fifth column provides the information regarding the stabilization/destabilization effect of the selected commodities on overall export earnings. If (CP/R)>1 then the given commodity is an 'excessive contributor to instability. Table 4 reveals several important aspects of commodity profile of export instability behaviour. On the basis of the results of absolute instability index (IDX), it was found that majority of the commodities have realized high instability. Among the selected export commodities, rice (SITC-042), feed-stuff for animals (SITC-081), iron ore and concentrates (SITC-281), petroleum products (SITC-332), pearls and precious and semi-precious stones (SITC-667), clothing (SITC-841) and jewellery (SITC-897) were found to be the large contributors to overall export instability (as highlighted by the term CP in the respective table). Fish (SITC-031), fruits (SITC-051), tea and mate (SITC-074), organic chemicals (SITC-512), synthetic organic dyestuffs, natural indigo and lakes (SITC-531), medicinal and pharmaceutical products (SITC-541), cotton fabrics (woven) (SITC-652), textile fabrics (woven) (SITC-653), made-up articles, wholly or chiefly of textile material (SITC-656), floor coverings, tapestries, etc. (SITC-657), pearls and precious and semi-precious stones (SITC-667), machinery and appliances non electrical parts (SITC-719), clothing (SITC-841) and footwear (SITC-851) appeared to be most stable in terms of the degree of the relative contribution to total instability and have stabilization effect on India's export earnings during the period under study. On the other hand, all the commodities have more or less destabilization effect on India's export instability and emerged as excessive contributors to the instability.

Table 5 reveals several important aspects of profile of export instability behaviour by trading partners during the period from 1991 to 2006. It reveals the contribution of specific market in total export instability and its stabilization/destabilization effect on total export earnings. The export destinations which have examined here constitute more than 75 per cent share of total export earnings. Similar to the commodity-wise analysis of instability, contribution share index (CP) and contribution percentage ratio (CP/R) indices have been for each export destination respectively to estimate export instability behaviour by trading partners. Based on the absolute instability index values, the developed countries occupy the lowest position in the absolute instability ranking as compared to developing countries. Among the both developing and developed countries, USA, Japan, Russia UAE, Bangladesh, China, Honk Kong, and Singapore emerged as large contributors to the overall export instability. All the selected developed countries have strong stabilization effect on India's exports as relative contribution to total instability of each of these countries found to be well below their relative share in overall export earnings. With respect to their importance in India's overall export earnings, among the developing economies Iraq, Romania, Bhutan, Maldives, Pakistan, China, South Korea, Singapore Egypt, Kenya and Sudan have destabilization effect and proved as excessive contributors to instability to India's export earnings. Contrary to these, all other developing economies such as Kuwait, Saudi Arabia, U.A.E, Bangladesh, Nepal, Sri Lanka, Honk Kong, Malaysia, Thailand, Tanzania, Zambia and Latin American Countries have strong stabilization effect on India's exports earnings during the study period. Thus, it is held that exports to the developed countries have been characterised by lower absolute instability and lesser contribution to total instability and have strong stabilization effect on India's export earnings as

CONCLUDING REMARKS

Based on the above results, it is concluded that growth of India's exports during post-reform and post-WTO period remained to be as high as of 12.79 per cent that is well above the growth of exports of majority of the developed and developing countries (Singh, 2011). The scene at the instability side is also found to be satisfactory as instability of total export earnings is recoded as low as of 1.40 per cent per annum. At disaggregate level, among selected commodities, except the six commodities namely fish (SITC-031), fruits (SITC-051), tea and mate (SITC-074), feed-stuff for animals (SITC-081), woven cotton fabrics (SITC-652), and floor coverings, tapestries, etc. (SITC-657), all other commodities registered high rate of growth. Except the commodities namely iron ore and concentrates (SITC-281), petroleum products (SITC-332), ingots and other primary forms of iron (SITC-672) and copper (SITC-682), all other commodities experienced low instability during the study period. It means that majority of India's exports (selected commodities) experienced high growth and low earnings instability during post-reform as well as post-WTO period. Further, the analysis of instability of India' export reveals that export instability was primarily due to the dominance of quantity variables in case of majority of India's exports. It is also observed that instability in India's export earnings is mainly due to supply variations. Thus, dominance of quantity and supply variations in the instability of the majority of the commodities indicates towards the existence of supply bottlenecks in the Indian economy for the respective commodities. Although, the government had removed these bottlenecks by introducing several trade policy reforms, but still supply bottlenecks contribute to the instability of Indian exports during the study period. Besides, out of the selected commodities, fourteen commodities have strong stabilization effect on the export earnings during the study period. Analysis also reveals that developed countries occupy the lowest position in the instability ranking as compared to developing countries and found to be most stable markets for India's export and thus have strong stabilization effect on India's export earnings. However, several developing economies such as Kuwait, Saudi Arabia, U.A.E, Bangladesh, Nepal, Sri Lanka, Hong Kong, Malaysia, Thailand, Tanzania, Zambia and Latin American Countries have stabilization effect on India's export earnings during the period under study. Provision of export subsidies, tax concessions, tax holidays, duty refund, removal of the restrictions from import technology and raw materials used in export based industries and establishment of Special Economic Zones (SEZs) in India has benefited export by various ways. Appropriate domestic policy reforms would be essential for abolition of domestic supply bottlenecks and for maintaining quality and cost competitiveness of exports in global market. Deepening of reforms into specific export sectors would stimulate India's export; result compositional and geographical diversification; help to remove supply bottlenecks operating in the economy and help improving export competitiveness.

REFERENCES

Aggarwal, M.R. (1982). Export Earning Instability and Economic Development in Less Developed Countries: A Statistical Verification, *Indian Economic Journal*, Vol. 29, No. 3, pp. 60-70.

Bhagwati, J.N. and Srinivasan, T.N. (1976). Foreign Trade Regimes and Economic Development: India, Mcmillan Company of India Ltd, New Delhi.

Coppock, J.D. (1962). International Economic Instability, McGraw Hill, New York.

Economic Survey, (2002-03), Ministry of Finance, Government of India, Various Issues, New Delhi.

Joshi V. and I.M.D Little (1996). India's Economic Reforms 1991-2001, Oxford University Press, Delhi

Kaundal R.K. (2005). Trade Policy Reforms and Indian Exports, Mahamaya Publishing House, New Delhi.

Kaushik, K.K. and Paras (2000). Trade Liberalisation and Export Performance in India: A Statistical Verification, Foreign Trade Review, Vol. 35, No. 1, April- June, pp-12-31.

Sharan, V. (1984). India's Economic Relations with Britain: An Analysis, General Book Publishers, Patna.

Singh, Kulwinder (2011), Economic reforms, WTO and India's Exports: An Analysis, Unpublished Ph.D thesis, Department of Economics, Punjabi University, Patiala.

TABLES

TABLE 1: GROWTH AND INSTABILITY OF INDIA'S SELECTED EXPORTS DURING 1991-2006

S.N.	Commodity	Growth of	Growth of	Growth of	Export Earning Instability	Export Volume Instability	Export Price
	Code	Export Earnings	Export Volume	Export Price			Instability
1	SITC-031	4.96	5.35	-0.37	1.98	2.87	7.39
2	SITC-042	9.81	13.10	-2.91	5.50	6.50	-21.21
3	SITC-051	5.66	14.74	-7.92	2.09	3.78	31.14
4	SITC-074	0.24	0.31	-0.07	2.97	2.28	12.56
5	SITC-081	3.90	1.50	2.37	6.48	4.33	-7.79
6	SITC-281	15.74	2.75	12.65	9.44	6.25	-23.96
7	SITC-332	31.11	0.00	0.00	16.05		
8	SITC-512	20.20	21.47	-1.05	2.21	2.47	17.99
9	SITC-531	7.19	11.97	-4.28	2.10	2.19	6.71
10	SITC-541	15.17	-	-	1.53	-	-
11	SITC-581	26.88	31.08	-3.21	4.78	6.52	127.48
12	SITC-599	18.00	18.58	-0.49	2.99	3.06	19.78
13	SITC-611	6.40	3.96	2.35	3.50	9.38	4.63
14	SITC-629	10.38	14.42	-3.54	1.21	5.30	82.47
15	SITC-651	9.04	9.89	-0.77	3.26	8.69	66.15
16	SITC-652	1.63	-9.26	12.00	2.02	10.34	71.31
17	SITC-653	9.00	-3.23	12.64	0.60	2.18	24.45
18	SITC-656	12.67	1.34	11.18	1.36	9.00	52.68
19	SITC-657	4.13	2.35	1.74	2.47	4.94	12.86
20	SITC-661	15.09	17.39	-1.96	3.80	5.66	-18.18
21	SITC-667	10.09	-	-	1.14	-	-
22	SITC-672	25.56	23.07	2.02	8.14	9.81	-52.57
23	SITC-674	26.10	21.78	3.54	4.40	5.55	-39.61
24	SITC-682	48.55	48.77	-0.14	13.60	17.72	33.93
25	SITC-719	19.87	33.51	-10.21	2.64	9.19	21.50
26	SITC-722	21.14	7.77	12.40	4.29 13.86		24.86
27	SITC-732	15.09	75.98	-34.59	5.05 116.75		21.76
28	SITC-841	8.29	-3.70	12.45	0.93	8.52	37.94
29	SITC-851	9.70	3.25	6.25	2.86 7.60		16.67
30	SITC-897	21.03	-	- 1	2.55	-	-
	Total	12.79			1.40		

Computed from Commodity Trade Statistics Database, United Nations.



TABLE 2: COMPONENTS OF VARIANCE OF INDIA'S SELECTED EXPORTS DURING 1991-2006

	Commodity	Var Log E	Var Log P	Var Log Q	2Cov Log P	VAR Log P	Var Q	Dominant
	Codes				.Log Q	/Var Log Q	/Var P	Variable
1	SITC-031	0.013810	8.68	123.63	-32.31	0.07	14.24	Q
2	SITC-042	0.062619	18.66	177.54	-96.20	0.11	9.51	Q
3	SITC-051	0.016541	250.87	559.92	-710.78	0.45	2.23	Q
4	SITC-074	0.005217	30.69	44.81	24.50	0.68	1.46	Q
5	SITC-081	0.036192	15.29	61.52	23.19	0.25	4.02	Q
6	SITC-281	0.162679	112.98	43.71	-56.69	2.58	0.39	Р
7	SITC-332	0.547554	-	-	-			ND
8	SITC-512	0.157351	2.94	111.39	-14.33	0.03	37.89	Q
9	SITC-531	0.024510	43.70	242.55	-186.26	0.18	5.55	Q
10	SITC-541	0.092313	-	-	-			ND
11	SITC-581	0.269999	7.15	131.38	-38.52	0.05	18.37	Q
12	SITC-599	0.129170	5.54	104.60	-10.14	0.05	18.88	Q
13	SITC-611	0.024759	21.49	86.55	-8.04	0.25	4.03	Q
14	SITC-629	0.181088	137.27	263.57	-300.84	0.52	1.92	Q
15	SITC-651	0.043342	106.90	216.23	-223.13	0.49	2.02	Q
16	SITC-652	0.004324	3086.38	2401.04	-5387.43	1.29	0.78	Р
17	SITC-653	0.246097	58.54	89.68	-48.22	0.65	1.53	Q
18	SITC-656	0.065869	144.52	71.49	-116.02	2.02	0.49	Р
19	SITC-657	0.011789	81.73	100.99	-82.72	0.81	1.24	Q
20	SITC-661	0.097423	25.52	152.91	-78.44	0.17	5.99	Q
21	SITC-667	0.043463	-	-	-			ND
22	SITC-672	0.266921	13.14	96.66	-9.80	0.14	7.36	Q
23	SITC-674	0.255474	6.98	78.11	14.91	0.09	11.19	Q
24	SITC-682	0.186897	19.59	166.92	-86.52	0.12	8.52	Q
25	SITC-719	0.153523	63.71	261.06	-224.77	0.24	4.10	Q
26	SITC-722	0.176644	53.47	43.01	3.52	1.24	0.80	Р
27	SITC-732	0.108696	970.50	1648.22	-2518.72	0.59	1.70	Q
28	SITC-841	0.029738	403.91	220.54	-524.45	1.83	0.55	Р
29	SITC-851	0.043793	93.20	41.58	-34.78	2.24	0.45	Р
30	SITC-897	0.170142	-	-!	-			ND

Note: Var E: Variance of Export Earnings, Var Q: Variance of Export Volume, Var P: Variance of Export Earnings, 2 Cov Log P. Log Q: Covariance Coefficient = Price, S= Supply Computed from Commodity Trade Statistics Database, United Nations.

TABLE 3: INSTABILITY OF EXPORT EARNINGS, VOLUME AND PRICE AND ROLE OF DEMAND AND SUPPLY VARIABLES DURING 1991-2006

	Commodities	Export Earnings Instability (EEI)	Export Price Instability (EPI)	Export Volume Instability (EVI)	r(EQ)	r(EP)	Comparison	DV
1	SITC-031	1.98	7.39	2.87	0.88	-0.11	r(EQ) > r(EP)	ND
2	SITC-042	5.50	-21.21	6.50	0.92	-0.44	r(EQ) > r(EP)	3
3	SITC-051	2.09	31.14	3.78	-0.09	0.59	r(EQ) < r(EP)	4
4	SITC-074	2.97	12.56	2.28	0.85	0.78	r(EQ) >r(EP)	ND
5	SITC-081	6.48	-7.78	4.33	0.95	0.60	r(EQ) >r(EP)	1
6	SITC-281	9.44	-23.96	6.25	0.11	0.66	r(EQ) < r(EP)	2
7	SITC-332	16.05						ND
8	SITC-512	2.21	17.99	2.47	0.50	0.52	r(EQ) < r(EP)	4
9	SITC-531	2.10	6.71	2.19	0.53	0.68	r(EQ) < r(EP)	4
10	SITC-541	1.53						
11	SITC-581	4.78	127.48	6.52	0.63	0.17	r(EQ) > r(EP)	ND
12	SITC-599	2.99	19.78	3.06	0.21	0.71	r(EQ) < r(EP)	4
13	SITC-611	3.50	4.63	9.37	0.92	-0.48	r(EQ) > r(EP)	3
14	SITC-629	1.21	5.30	82.47	0.38	-0.15	r(EQ) > r(EP)	3
15	SITC-651	3.26	66.15	8.69	0.38	0.05	r(EQ) > r(EP)	ND
16	SITC-652	2.02	71.31	10.34	-0.40	0.57	r(EQ) < r(EP)	4
17	SITC-653	0.60	2.18	24.45	0.83	-0.69	r(EQ) < r(EP)	ND
18	SITC-656	1.36	52.68	8.99	0.21	-0.03	r(EQ) > r(EP)	ND
19	SITC-657	2.47	12.86	4.94	0.43	0.27	r(EQ) > r(EP)	ND
20	SITC-661	3.80	-18.18	5.66	0.54	-0.06	r(EQ) > r(EP)	3
21	SITC-667	1.14						ND
22	SITC-672	8.14	-52.57	9.81	0.69	0.04	r(EQ) > r(EP)	3
23	SITC-674	4.40	-39.6	5.55	0.69	0.03	r(EQ) > r(EP)	3
24	SITC-682	13.60	33.93	17.72	0.74	0.44	r(EQ) > r(EP)	ND
25	SITC-719	2.64	21.5	9.19	-0.84	0.93	r(EQ) < r(EP)	4
26	SITC-722	4.29	24.86	13.86	0.62	-0.21	r(EQ) > r(EP)	ND
27	SITC-732	5.05	21.76	116.75	0.77	-0.65	r(EQ) >r(EP)	3
28	SITC-841	0.93	37.94	8.52	0.15	-0.02	r(EQ) > r(EP)	ND
29	SITC-851	2.86	16.67	7.60	-0.34	0.71	r(EQ) < r(EP)	4
30	SITC-897	2.55						

Computed from Commodity Trade Statistics Database, United Nations.

Notes:

1= Shift in Demand with an elastic supply curve

2= Shift in demand curve with and inelastic supply curve

3=Shift in supply curve with and elastic demand curve

4=Shift in Supply curve with an inelastic demand curve $\,$

ND= Not Determined

TABLES 4: INSTABILITY OF EXPORTS BY COMMODITY STRUCTURE DURING 1991-2006

	Commodities Codes	Instability Index (IDX _i)	Relative Share in Total Exports (R _i)	IDX _i *R _i	Contribution In Total Instability (CP _i)	De/Stabilization EffectCP _i /R _i
1	SITC-031	7.17	2.77	19.86	1.92	0.69
2	SITC-042	28.07	2.14	60.07	5.81	2.72
3	SITC-051	8.58	1.27	10.90	1.05	0.83
4	SITC-074	9.88	1.05	10.37	1.00	0.96
5	SITC-081	20.28	1.74	35.29	3.42	1.96
6	SITC-281	17.74	2.04	36.19	3.50	1.72
7	SITC-332	30.41	4.92	149.62	14.48	2.94
8	SITC-512	9.56	3.07	29.35	2.84	0.93
9	SITC-531	7.64	2.77	21.16	2.05	0.74
10	SITC-541	5.11	1.05	5.37	0.52	0.49
11	SITC-581	17.41	0.87	15.15	1.47	1.68
12	SITC-599	10.54	0.98	10.33	1.00	1.02
13	SITC-611	11.08	0.92	10.19	0.99	1.07
14	SITC-632	12.98	0.9	11.68	1.13	1.26
15	SITC-651	12.44	2.34	29.11	2.82	1.20
16	SITC-652	7.45	0.16	1.19	0.12	0.72
17	SITC-653	7.05	1.97	13.89	1.34	0.68
18	SITC-656	6.63	2.18	14.45	1.40	0.64
19	SITC-657	5.43	1.76	9.56	0.92	0.53
20	SITC-661	16.99	0.76	12.91	1.25	1.64
21	SITC-667	7.16	13.95	99.88	9.67	0.69
22	SITC-672	19.77	0.63	12.46	1.21	1.91
23	SITC-674	16.93	1.22	20.65	2.00	1.64
24	SITC-682	23.08	0.5	11.54	1.12	2.23
25	SITC-719	6.59	1.52	10.02	0.97	0.64
26	SITC-722	13.05	0.78	10.18	0.99	1.26
27	SITC-732	12.11	1.98	23.99	2.32	1.17
28	SITC-841	5.3	12.22	64.77	6.27	0.51
29	SITC-851	8.39	0.98	8.22	0.80	0.81
30	SITC-897	16.47	2.61	42.99	4.16	1.59
	Others	7.94	27.95	221.92	21.48	0.77
	Total	5.73	100.00	1033.25	100.00	

Computed from Commodity Trade Statistics Database, United Nations.



TABLE 5: INSTABILITY OF EXPORTS BY TRADING PARTNER DURING 1991-2006

Countries	Instability	Relative Share in	IDX _j *R _j	Contribution in Total	De/Stabilization
	Index (IDX _j)	Total Exports (R _j)		Instability (CP _j)	Effect CP _j /R _j
Belgium	6.54	3.39	22.19	1.40	0.41
France	7.10	2.21	15.68	0.99	0.45
Germany	5.89	5.31	31.26	1.97	0.37
Italy	9.52	2.94	28.01	1.76	0.60
Netherlands	10.09	2.19	22.07	1.39	0.63
U.K.	8.71	5.59	48.70	3.06	0.55
Canada	6.26	1.15	7.17	0.45	0.39
U.S.A	6.12	18.54	113.46	7.14	0.39
Australia	7.35	1.04	7.66	0.48	0.46
Japan	8.62	5.33	45.99	2.89	0.54
Russia	15.50	3.30	51.21	3.22	0.98
Switzerland	6.63	0.89	5.87	0.37	0.42
Indonesia	22.13	1.22	27.09	1.70	1.39
Iran	13.23	0.77	10.15	0.64	0.83
Iraq	52.05	0.12	6.50	0.41	3.28
Kuwait	9.46	0.46	4.34	0.27	0.60
Saudi Arabia	9.50	1.87	17.73	1.12	0.60
U.A.E.	8.57	5.79	49.65	3.12	0.54
Romania	26.80	0.08	2.16	0.14	1.69
Bangladesh	15.02	2.17	32.57	2.05	0.95
Bhutan	30.66	0.05	1.45	0.09	1.93
Maldives	21.21	0.05	0.96	0.06	1.33
Nepal	15.40	0.54	8.36	0.53	0.97
Pakistan	25.22	0.40	10.19	0.64	1.59
Sri Lanka	8.83	1.45	12.78	0.80	0.56
China,	24.04	2.55	61.22	3.85	1.51
Hong Kong	12.26	5.02	61.57	3.87	0.77
South Korea	17.29	1.27	21.88	1.38	1.09
Malaysia	14.08	1.24	17.39	1.09	0.89
Singapore	16.80	2.95	49.59	3.12	1.06
Thailand	9.88	1.27	12.52	0.79	0.62
Benin	15.52	0.07	1.14	0.07	0.98
Egypt	16.47	0.62	10.24	0.64	1.04
Kenya	20.95	0.44	9.17	0.58	1.32
Sudan	16.58	0.17	2.85	0.18	1.04
Tanzania	13.40	0.24	3.22	0.20	0.84
Zambia	11.72	0.09	1.03	0.06	0.74
LACs*	14.35	1.82	26.18	1.65	0.90
Others	47.25	15.40	727.84	45.80	2.97
Total Trade	8.03	100.00	1589.03	100.00	1.00

Note: LACs*: Latin American Countries

Computed from Handbook of Statistics on Indian Economy, RBI

APPENDIX

APPENDIX I: METHOD FOR EXAMINING THE ROLE OF DEMAND AND SUPPLY IN EXPORT INSTABILITY

Variations in export earnings instability are generated by the interaction between variations in export quantity and price, which are in turn due to shifts in export demand or supply. Consequently the degree of association between the degree of price and quantity instability and degree of earning instability is determined by two main factors, namely the relative importance of demand and supply shifts and price elasticities of demand and supply.

If the demand curve is not stable while supply curve remains relatively stable, the trend corrected price series tend to move in similar direction. Therefore, earning instability is higher in comparison to price and quantity instability. The relative importance of quantity instability is determined by the elasticities of supply curve. If the supply curve is price elastic, quantities tend to be relatively less stable. Therefore, variations in earnings will be highly correlated variations in quantities than those in prices. If supply curve is inelastic, the converse will be true.

If the supply curve shifts while the demand curve remains relatively less stable, trend deviations of the price and quantities series will behave in a compensatory manner, making earnings less unstable than either prices or quantities. Assuming that the demand curve is elastic, variations in earnings will closely follow the time path of volume variations. Earnings instability tends to be lower than price instability because of the compensatory nature of price and quantity variations. On the other hand, if demand curve is inelastic, trend-corrected earnings will closely follow the time path of the trend corrected price series. Price instability is more than volume instability and earnings instability will also tend to be lower than the former.

The foregoing discussion suggests that by observing the relationship of price, earnings, and quantity variations around their respective trends, we can identify whether earning instability is predominantly caused by demand or supply shifts. Moreover, by comparing the relative magnitude of the measured instability of price and quantity and the correlation between the de-trended series of price and quantity and de-trended series of earnings, some inferences as to the degree of price elasticity of the curve which remains stable, can made for. For the purpose of expository simplicity, these demand and supply configuration can be classified as follow:

- Shift in Demand with an elastic supply curve
 - EI > PI , EI > QI, PI > QI and r(EQ) > r(EP)
- 2. Shift in demand curve with and inelastic supply curve
 - EI > PI , EI > QI, PI > QI and r(EQ) < r(EP)
- 3. Shift in supply curve with and elastic demand curve
 - EI < QI PI, PI < QI and r(EQ) > r(EP)
- 4. Shift in Supply curve with an inelastic demand curve

 ${\sf EI}\,{\sf < PI}$, ${\sf PI}\,{\sf > QI}$ and ${\sf r(EQ)}\,{\sf < r(EP)}$

Where

EI= Export earnings Instability

PI= Price Instability

QI= Quantity Instability

r(EP)= Correlation between trend corrected series of export earnings and export price

r(EQ)= Correlation between trend corrected series of export earnings and export quantity

Source: Kaundal (2005)

REQUEST FOR FEEDBACK

Dear Readers

At the very outset, International Journal of Research in Commerce, Economics & Management (IJRCM) acknowledges & appreciates your efforts in showing interest in our present issue under your kind perusal.

I would like to request you to supply your critical comments and suggestions about the material published in this issue as well as on the journal as a whole, on our E-mails i.e. infoijrcm@gmail.com or info@ijrcm.org.in for further improvements in the interest of research.

If you have any queries please feel free to contact us on our E-mail infoijrcm@gmail.com.

I am sure that your feedback and deliberations would make future issues better – a result of our joint effort.

Looking forward an appropriate consideration.

With sincere regards

Thanking you profoundly

Academically yours

Sd/-

Co-ordinator

ABOUT THE JOURNAL

In this age of Commerce, Economics, Computer, I.T. & Management and cut throat competition, a group of intellectuals felt the need to have some platform, where young and budding managers and academicians could express their views and discuss the problems among their peers. This journal was conceived with this noble intention in view. This journal has been introduced to give an opportunity for expressing refined and innovative ideas in this field. It is our humble endeavour to provide a springboard to the upcoming specialists and give a chance to know about the latest in the sphere of research and knowledge. We have taken a small step and we hope that with the active cooperation of like-minded scholars, we shall be able to serve the society with our humble efforts.







